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16-2:¥3, 9,11 ,13,17, 27,19, 31, 35
Fe <\5 WX > C is 4he Curve y= x~ .53 c 1L 7(42 (1eft %o f'ujh""
(@) Calc. F(r({)) § dr =) dt for Hhe paameteizhion of C given bj

Py = <4, 4

PO = (477, 420 = <t 427

O = dg Lt Y - Q-4 = dr= <, -+ D6k
() Cale. dot roduGc Fle@)s () dk 8 evaluake  §. Fedr

F(r(4)) - r’(U-G D R I S A Sl AR SO e ) 1r-

g F.dc =S (r(Jc)) F(4) d4 _g 2 e = -

C | I ] 2 |
£009) = Ty, Y X fie 02 %22 (ankis fanetrized by (@748 b %)
S, P de 420 = 5> = o) = D ‘
52. FC@) = g = At
53, S Sy) ds = Sﬂ fe@)leen dt - gl
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fxy, ) =27, r@)= <2k 3t Y Jor 0%E=2

§1. r&)= d/a‘k 04,3, 9EY = €2, 1) =D 1P = {2237 = {9
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., 'F()(,&LZ\ :XEZ ; Plece\m‘ﬁ lmcar PCIJ‘L\ Foom (0,0,\) 4o (0,1,0) -‘»0 (\‘l,})

Coin@)y= (0,2¢,1-4), o0t £l g fOxy,2)ds _ SwC(xyz\als $(¥.9.2)d8

Cat ()= (4, 2-4,4), 0st=1 )¢ g g

Tkogial over €, 0 (t) = d/cl’c<0 B, 47 < 0.2, = o] < e £ /5
?(r,(ﬂ% xe? = 0.V 0

Tndeqal over (5¢ (3 (1) = d/dt <4, 2-4,¢) = -1 = @l RT3
£n@) = % = fet* => 143%

g £(x.y,2)ds ~ 1188
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(alc. Sc lds  where the curve C i porametrized by ()= <ut,-3t 2ty e
2<+45. Whot does Hus m-‘-ch‘Q\ Fepresen+?
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o ﬁ _ ﬂ\w\s (PE(eSm-h Pne d‘s+ froon the plr (8 -6,24) 4o the P“ (Qo -15,60).

. g ydx ~xdy ,  pambola y=x* for 0€x %2 (quqme*nze C bg AR 9(+\ L)

o for c<t<2. (dut- \Mgm %),
R g ydx-Xdy = g (2 -1 () - g e = 2 I'l . .8
D A 0 3 e 3

o qu (4)dx + (i -2)dy + 20z | lire %y From (0,0,0) 4o (1,4,4) 7(51,<:dk) '{Mk)
e (e =t y@=uk, z®) =A% 02 ££) ) de=Hdt

g (x-yldx + (y-2)dy + zdz = S ((+- th) |+ (4E-4L) - 4y dk
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51. Calc. Tntegrand r(H:(l-Jc,t)__(q_ffcén) o N
Frt) = ) &y xy = | -ty
x+9, o (1-4)2+ 42
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B N (ORI e ey
:_ - '32( ”M S'L = \g dt £ \g 1566 Cﬂfde 'IT
e X2+9 o U% 94+ “_2 0 {"‘gz‘f"q -y q({anIQH)
” 35. C|_{ A= (0,0.4) o<t r () = 0,0, (c= C‘*(~‘_§3)
G: ()= (0k,1) 0Zt£) = (J(4) =40,1,07
16 5= (+1,1)  0E%) (1) =<1,0,0
S Fedr = Q! F(r(Jc) KL=, <t e°° e Y- (00 Pk = 4 _.
K Fedr = (L R (LGN 208k =G et ey <0, 1,07k < 1-p -

S Fede =G F(nit) - hdk =5 <el et e e 10074k = @
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lo-3: #1,5,5,9 13,15 17, I 1f12/20
Let $(+9,2) = xysin(yz) § F= v§. Evaluate Sc Fedr whece C s
any podhr From (0,0,0) 4, (1, 1, 7).

Ce VE-dr = £(1L1,T)-F(0,0,0) = I+ lsin=-0= 10

G F(0YY = <06y Y, F Y)Y E Bk dy? 5 (k)= <L 28D on el 1<dsd
PF = Cdfdy , dTLyY> = <3, 6y = F |

e Fodr= $0eeM=F(r)) = £(4, M) - F(152) = 34 #3- Yy - (3+1431) =%

A Floy,2)= ye®i+ xe"j+ wye*k | $06y,2) =xye?; )= b5 -1 dor 14042
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-Q(*»‘jl) - §[3++qm<‘)dz e
2tanx + ¥(y,2) = yz 4 (%

F04,2) = yz + 24anx ¥ ¢

7f = OLF/J)H ¥ d{/d_\,j + dfdz K -
()= (48,0) 5 c(MN0,1,0) = (¢ Fede = $(4,8,0)-5F(1,),0) = 32e -
F= 42+ (Ixy+e?)j +ye?K

dF,/dz = d/dz (zsec* %) = sec*x =2 dz
$(x4,2) = (zsec2 xdx = zdanx + $(y,z)
%(x‘kj,l) =§z d\j = 4z 9(1,1)
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dF /By = d/dy v = oy ~ dh JF
dF,/dx = d/dx (Hj# ez)- 23 d:‘ dx
JF/dz = d/dz (2$3+ez)= e* o dR | dFs
dFs/dy = 9/dy (yez) = e* 0 dz dy
JF; /dx = d/fdx (ye?) = O S Jdf _ Jh
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xy?+£(y,2) :xgz +yeZ +q(x-2) = ye* yhixy) => $,2)- XY ye® 4 C
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dF ) dy = didy (zsec*x) =0 = dF _ dFR
dF) oy = d/dx (2) =0 dy  dx

0F; /dz = d/dz(2) =) = JdFs _ dF,
dF; 1y = d/dy (y4tany) =) dz  dy

dFs /dy = d/dx (y+Yanx) = sec? x dfs _ JF

23 ztanx + h(x,u)
= 4z + zdank 4 (%)




\ ¥

15 Fe <2x9+5 X2 Hz My 7
AR /dy = Ady (2xy+5) = 2% ~ dh | df

Qo\Fz/ch = d/dx (x2-Hz) =24 dy  dX
CdR/dz = d_/o\z (x*-4z2) = -y -~ dh . Jdf
dR/dy = dldy(-uy) = -4 T T T Ay
dF /dx = d/dx (-4y)= O _~ df _ df
;dF/o\z = o\/dz(2><9+5)— I dz

-F[xg z\ex y + 5% = Hyz+ (
ﬁ E\lo\\la’\‘(’, Sc Ixyzdx +x zoh5+ x*ydz over Ye path ()= (17, sin (),
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‘#‘(\fmj} ) = X2yz ; path begins ot (o) = (0,00) & ends at r(2): (4,0, 1)
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P@): 0,0 Flnd)) - (2t7 4 -1y
'r) () =), 248,05 | Flno@) = 42{3 12y
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